

Name: Prince. Abinge. Brown-

Dept: Mechatronics

College: Engineering

matric: 191FNG05/002

Mat 104

$$1) \lim_{x \rightarrow 0} \left\{ \frac{x - \cos x}{x} \right\}$$

Solu

$$\lim_{x \rightarrow 0} \left\{ \frac{x - \cos x}{x} \right\}$$

Using direct substitution, we have ^{und} defined, but

Using Lhopital's rule

$$\lim_{x \rightarrow 0} \left\{ \frac{x - \cos x}{x} \right\} = \lim_{x \rightarrow 0} \left\{ \frac{1 - (-\sin x)}{1} \right\}$$

$$= \lim_{x \rightarrow 0} \left\{ \frac{1 + \sin x}{1} \right\} = \frac{1 + \sin 0}{1} = \frac{1 + 0}{1} = \underline{\underline{1}}$$

$$2) y = -3 \tan 7x e^{3x}$$

Solu

$$y = -3 \tan 7x e^{3x}$$

$$\text{let } u = -3, v = \tan 7x, w = e^{3x}$$

$$\frac{du}{dx} = 0, \quad \frac{dv}{dx} = 7 \sec^2 7x, \quad \frac{dw}{dx} = 3e^{3x}$$

$$\frac{dy}{dx} = y \left[\frac{1}{u} \times \frac{du}{dx} + \frac{1}{v} \times \frac{dv}{dx} + \frac{1}{w} \times \frac{dw}{dx} \right]$$

$$\frac{dy}{dx} = y \left[\frac{1}{-3} \times 0 + \frac{1}{\tan 7x} \times 7 \sec^2 7x + \frac{1}{e^{3x}} \times 3e^{3x} \right]$$

$$\frac{dy}{dx} = y \left[0 + \frac{7 \sec^2 7x}{\tan 7x} + 3 \right]$$

$$\frac{dy}{dx} = -3 \tan 7x e^{3x} \left[\frac{7 \sec^2 7x}{\tan 7x} + 3 \right]$$

3) $y = \cos 3x$ from the first principle

Solu

$$y = \cos 3x$$

$$y + \Delta y = \cos 3(x + \Delta x)$$

$$y + \Delta y = \cos 3x + 3\Delta x$$

$$\Delta y = \cos 3x + 3\Delta x - \cos 3x \quad \dots \text{--- (1)}$$

$$\text{Recall } \cos A - \cos B = 2 \sin \frac{A+B}{2} \sin \frac{A-B}{2} \quad \dots \text{--- (2)}$$

Compare equ (1) and (2)

$$A = 3x + 3\Delta x \quad \text{and} \quad B = 3x$$

$$\frac{A+B}{2} = \frac{3x + 3\Delta x + 3x}{2} = \frac{6x + 3\Delta x}{2} = \frac{3(2x + \Delta x)}{2} = 3x + \frac{3\Delta x}{2}$$

$$\frac{A-B}{2} = \frac{3x + 3\Delta x - 3x}{2} = \frac{3\Delta x}{2}$$

$$\text{Hence } \Delta y = -2 \sin \left(3x + \frac{3\Delta x}{2} \right) \sin \left(\frac{3\Delta x}{2} \right)$$

divide through by Δx

$$\frac{\Delta y}{\Delta x} = \frac{-2 \sin \left(3x + \frac{3\Delta x}{2} \right) \sin \left(\frac{3\Delta x}{2} \right)}{\Delta x}$$

Multiply both numerator and denominator through by $\frac{3}{2}$

$$\frac{-2 \sin\left(3x + \frac{3\Delta x}{2}\right) \sin\left(\frac{3\Delta x}{2}\right) \times \frac{3}{2}}{\Delta x \times \frac{3}{2}}$$

$$\frac{\Delta y}{\Delta x} = \frac{-3 \sin\left(3x + \frac{3\Delta x}{2}\right) \sin\left(\frac{3\Delta x}{2}\right)}{\frac{3\Delta x}{2}}$$

$$\lim_{\Delta x \rightarrow 0} \frac{\Delta y}{\Delta x} = -3 \sin 3x$$

$$\Delta x \rightarrow 0$$

$$\lim_{\Delta x \rightarrow 0} x$$

$$\frac{\sin \frac{3\Delta x}{2}}{\frac{3\Delta x}{2}} = 1$$

Hence $\frac{dy}{dx} = \underline{\underline{-3 \sin 3x}}$

$$1) f(x) = 2x^3 - 7x$$

$$g(x) = -3x$$

$$f(x) - g(x) = 2x^3 - 7x - (-3x)$$

$$= 2x^3 - 7x + 3x$$

$$= 2x^3 - 4x$$

$$(f-g)(5) = (2x^3 - 4x) \times 5$$

$$= 10x^3 - 20x$$

(d.t.b) divide through by 10

$$x^3 - 2x$$

$$5) f \circ g(x)$$

$$f(x) = 4x^2 + 2$$

$$g(x) = 2x + 3$$

$$f \circ g(x) = 4(2x + 3)^2 + 2$$

$$= 4(4x^2 + 12x + 9) + 2$$

$$= 16x^2 + 48x + 36 + 2$$

$$= 16x^2 + 48x + 38$$

$$f \circ g(x) = 16x^2 + 48x + 38$$

$$6) \quad x^2 + 2xy + y^2 = 1020$$

Solu

$$x^2 + 2xy + y^2 = 1020$$

$$2x \frac{dx}{dx} + 2x \frac{dy}{dx} + 2y \frac{dx}{dx}$$

$$+ 2y \frac{dy}{dx} = 0$$

$$2x + 2x \frac{dy}{dx} + 2y + 2y \frac{dy}{dx} = 0$$

$$2x + 2y + \frac{dy}{dx} (2x + 2y) = 0$$

$$\frac{dy}{dx} (2x + 2y) = -2x - 2y$$

$$\frac{dy}{dx} = \frac{-2x - 2y}{2x + 2y}$$

$$7) \quad y = x^2 \cos x$$

Solu

$$\text{Put } u = x^2, \quad v = \cos x$$

$$\frac{du}{dx} = 2x, \quad \frac{dv}{dx} = -\sin x$$

$$\text{Recall } u \cdot \frac{dv}{dx} + v \cdot \frac{du}{dx}$$

$$= x^2 \cdot (-\sin x) + \cos x \cdot 2x$$

$$= -x^2 \sin x + 2x \cos x$$

$$= 2x \cos x - x^2 \sin x$$